(E491:2)
Z2 3y T = AT w A -2 = H|
SHES 29,000 24,000 2 EHE(-SE A1)
cEstg 26,000 21,000 25,000
2Rst 26,000 21,000 e trg (ONE AL8)
OjSA 26,000 21,000 7,000
o|2B 29,000 24,000 10,000
HHS 29,000 24,000 13,000 (1~27HE AFR)
upo| 22 29,000 24,000
HEATHA 26,000 21,000
W 26,000 21,000 20,000
0] 29,000 24,000 s TR AR
st 32,000 27,000
20rz147) 29,000 24,000
FArerit 29,000 24,000 2o UEG-INE A1)
23 32,000 27,000
HEEA 26,000 21,000 a7 8&%@1&9@ At2)
7 ZEB 29,000 24,000 a7 8&%@3’9@ At2)
EgZo] 26,000 21,000 13,000
SHREA 26,000 21,000 S RSN AbE)
SHAIB 29,000 24,000 2 RS ALR)

o 500094 2toj mz Rl 4A0r3 ZQYSHH, L£74E XY

AA .
7|Ef 2OARFS BHA(E 717-1702), SEAYA(E 717-1706)2 2o[5Z4 2.



